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4. A manufacturer of a lightweight mountain tent makes a standard model and an expedition model. Each standard tent
bor hours from the assemblx department. Each
expedition tent requires two hours labor from the cuttmg department and four hours from the assembly department.
The maximum labor hours available per ‘week in the cutting and assembly departments are 32 and 34, respectively. In

requires oryﬁ@;ﬁau%he cuttmg department and t

addition, the distributor, because of demand, will not take more than 12 expedition tents per week If the company

makes a profit of S50 on each standard tent and $80 on each expedition: tent, how many tents of each type should be

manufactured each week to maximize the weekly profit?

et x- %Smda"’

L \.‘ \
\ ‘.‘
1
4‘ 27
|
|
\\ i
AN | |
= q r ===
- 1 ‘7 ﬂ.V'
A am. - 1) Sl
EAESAN EEEE
~ N —
2! BRI
,/j/ = T
e —- 1-
' = 3|
- % / ]
4

NI

i
[
= e
I
|/ 1
- 6
= 3 i
7 4
- "’7"‘
/
/)
-V
P e e V4
£ A &) ! ) — 7 e
= AT Zl B =
7 o}



